Corner Brook Intermediate Math 9

Unit 1: Powers and Exponents Name:

Lesson 2.1: What Is a Power?

1. Identify the base of each power.
a) 6° b) 2 c) (-5)* d) —7°

2. Use repeated multiplication to show why 3° is not the same as 5°.

3P=33x 3w 3= 243
53= AL RS PAS

3. Complete this table.

Power | Base | Exponent | Repeated Multiplication Standard Form
¢ Y T Y Yy xywH 256
(10" 710 | 3 |-10%-10%x-10 | -~ 1000
(oY | 6| 2 | -bx-6 36
1> | S 1x1x1x1x1 \
4. Write each product as a power, then evaluate.
a)6><,g_ b) 3x3x3x3%x3x%x3
- =26
=36 =329
0x10x 10 x 10 d) —(8 x 8 x 8 -
9 Hegpres 0470 or ~(8F or - ()
=10 -3
=10000 - -S12
e) (-8)(-8)(-8) f) (- 8)(—8)(_—$8)
3 -
= (— &) - = (—8)
_ 2-(-5\2
= -512 == (512)
512
5. Write each power as repeated multiplication, then evaluate.
a) 7° b) 4° c) —9° ) (-5)°

= Ix AR = UK | (9xqxq) | =(s)- AT

~ 16803 =409 == (19) |73
==




6. Evaluate each power. For each power: ~— 5: - (6,3(6)(6" 6"6}“ = ( -'FH'CD

» Are the brackets needed?

 If your answer is yes, what purpose do the brackets serve? =-Frv0
2) (6 b) ~(6)° c) ~(-6) d) (-69)
2 FEX-6)X-6YC6X-6) | = - (6xextoxx Q =- (~LX~6*‘6"'6"") =-(6x(,x¢x(,r£)
-1, =(A3%6)  [T(-F30) [ (3316)
‘ ==133( = 33136 --3776.
eg!
kﬁ“‘?m re needed to| N0 Yes NO
Mtify a “Cqmiup hose .

7. Predict whether each answer is positive or negative, then evaluate,
a) (-3)° b) (-3)° c) -3 d) —(-3)°

=(-3)(-3) :(-g)(—g)(—g) -~ (3x3) Z - (*3X-3x-3\

pt - +-(9 _
q - _2} ( ) - - (_R?\
IR €,
8. Is the value of —2* different from the value of (-2)*? Explain. . od
‘jes becavse with - 24 the negative s aP.Phe
1o the whole powery with (-2)1 the negative is
applied to the base .
4. Y1) =
B "“(ZX'L*ZK'I.\:‘ (\Q':'lﬁ /(-2) -(-ZY 2Y1X ) M’

9. Stamps are sold in a 10 by 10 sheet. The total value of a sheet of stamps is $60.00.
a) Express the number of stamps as a power and in standard form.

[0x10
= \020 (Standard corm\.
- \0 (power) |

b) Draw a picture to represent this power.

0}

lo

c) What is the value of one stamp?

(602100 “O.m(s%omp
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